—REZYRRLSEOHFEERICET H5EH

2020 HE

1 EBOIUT-—RERERYVOZTACEORERVHKE

AE XRS5

[E T B 4] 5 ] 6 7 ] 8 | 9 ] 10 ] 11 ] 12 ] 1 2 | 3 || &ET
E’ iE t 0.00 0.00 0.00 0.00 0.00 0.00 0.00
MEBEFEE | t | 39.93 | 3952 | 3311 | 3259 | 3038 | 28.05 203.58
EiR.EVERA t 10.46 9421 1132 | 1018 | 1223 | 10.95 64.56
1EENFEE | t |[[236.00 [148.83 [178.91 [192.47 [142.95 [183.89 1,083.14
By 85t t 286.48 | 197.77 | 223.34 | 235.24 | 185.56 | 222.89 0.00 0.00 0.00 0.00 0.00 0.00 1,351.28
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gxEUsA | AIEIRE  |EmniiE|lazees] 48 |[SA[6A [ 7A[8A[9A [10A[11A8|12A| 1A |2H | 3R
5\ & B FE - - mesn| mesn| mesn| mesn| sesn| sess
Kia - - |15.0]17.0]19.0 [ 20 [21.0 |20.0
KBTS — - -1 -1 -1 -1-1-
BegEE | - | - [ - - -[-1-1-
KIGREEE  |movomiro]smsmomr] <30 [ <30 | <30 | <30 [ <30 | <30
PH sspltseFlesstssusl 70 | 72 | 70 | 69 | 6.8 | 7.3
BOD 60mg/0] 10mg/0] <0.5|<0.5| 0.7 | 0.8 | 0.8 | 0.6
COD 90mg/0|10mg/0] 6.8 | 6.2 | 75 | 15 | 7.8 | 6.0
SS 60mg/0] 10mg/0] <1 <1 <1 1 2 1
EE - - -1 -1-T1-T1-1-
EXREEHE  |120me/0f120me/0] 24 | 22 | 20 | 30 | 34 [ 8.8
HRIYLRUZOEES 10.03mg/2]0.03mg/Q] - - - 10.014 - -
SRUZTDIEEM]|0.1mg/2|0.1mg/2] - - - [0.01] - -
R s |ocosme/efocosmeef — | - | - [coo0s| - | -
nen~zrmpmaan | 5mg/Q | Smg/Q - - - <05 - -
s mmnaens | 30mg/Q| 30mg/2] - - - <05 - -
Jx/—I)LEE | 5mg/e | Smg/2| - - - [<05| - -
HEfE 3meg/Q ] 3mg/0] - [ - | - [<03] - | -
HNEEFE 2mg/2 | 2mg/2 | - - - |<02| - -
BRI R 10mg/Qf10mg/e] - | - | - 03] - | -
AR A 10mg/2) 10mg/2] - - - 109 - -
JOLEEE | 2mg/2 | 2mg/2 | - - - |<02| - -
OTNEEW Lrvimea|o7oimee] - - - |<01| - -
BHEEY] tme/2 ) Img/e] -] - | - [<01] - | -
ANy LIEEY]0.5mg/2]0.5mg/Q] - - - [<0.05| - -
Wk VREVZDEEM][0.1mg/2]0.1mg/2] - - - |0.01| - -

TILXILIKER |susnsocemusnunnze] — - - |Fwrl - -
RUBILETTZ)L ]0.003mg/2]0.003me/e] — - - [<o0005| - -
r)oaRIFL]0.1meg/2]0.1mg/2] - - - |0.01f - -
7700 FL2]0.1mg/2]0.1mg/2] - - - |K0.01| - -
ooaaiay 10.2mg/2l0.2mg/el - - - [<0.02| - -
migibmE  Joo2me/efoo2mee] - | - | - [<oo002] - | -
1, 2->400x4210.04mg/2]0.04mg/2] — - - |<0.004| - -
1, 1-vsonxFLy] 1mg/2 | 1mg/2 | - - - €0.02| - -
o2-1, 2-oonnzFLy | 0.4mg/2]0.4mg/Q] - - - |£0.04 - -
1,1, 1-tyyaazsy | 3mg/2 | 3mg/2 | - - - |€0.02| - -
1,1, 2-byoanz4>|0.06mg/2)0.06mg/2] - - — |<0.006] - -
1, 3-2>/007ax>10.02mg/2]0.02mg/2] - - - [<0.002] - -
F)5 . 0.06mg/ef0.06mg/e] - | - [ - [<oo00s] - | -
IV 0.03mg/2]0.03mg/2| - - - |<0003] - -
FARUAIINT]0.2mg/2J0.2meg/0] - | - | - [<002] - | -
vy 0.1mg/2]0.1mg/2] - - - [<0.01| - -
Lo RUZOEEW|0.1mg/2]0.1mg/2] - - - [<0.01| - -
TvHERUEOMIEEY | 15mg/2| 15mg/2| - - - <1 - -
roREUZOMEEY | 50mg/2] 50mg/2] - - - |08 - -
1, 4-FFH2]0.5mg/2]0.5mg/Q] - - - [<0.05| - -
BEAE 16mg/0f16mg/0] - | - | - [<005] - | -
Liaw e |ame| | | _ | 6] - |-
%2%“‘3%&1‘%@? 200mg/2]200mg/
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[7K;E (°C) - - - [ - - [ 12 --
BRAREE (us/cm) - - - - - - - -
KFAF (mg/0) - - - - - - - -
KFAA2EE (pH) - - - - - - - -
FILEJLKER |#eshmuce|gesnmnce]| - - = |FRE] - -
BIKIR 0.0005mg/2] 0.0005mg/2] - - — [<0.0005] - -
HRED L 0.003mg/2]0.003mg/9] - — — [<o0003] — -
£ 0.0Tmg/0] 0.01mg/2| - - — [<0002] - -
N fiZZ=FN 0.05mg/2] 0.05meg/2] - - - [<0.02] - —
&3 001me/2] 00Tmg/2] - | - | - [<o001] - | -
E mtshnoce| msnoonce] - - — [F&E[ - -
R)BIEE D= )L etsnsvce] masnance] - - = |[FRE - -
r)ooaTFL2[0.01mg/2] 0.01mg/2| - - - [<o0.001] - -
Th5900TFL 2] 0.01mg/2] 0.01mg/2| - - - [<o0005] - -
SHaniay 0.02mg/2] 0.02mg/2] - - - [<0.002] - -
. |HETERER 0.002mg/2]0.002mg/2| - - — [<oo0002] - =
B S 5naT52]0.004me/0]0.004me/8] = | - | - |<oo00a] - | -
B LFEE) | e/ e '
1, 1-2yaaxFLr | 0.1mg/Q | 0.1mg/Q | - - - [<0.002] - -
1, 2-29n0xFLr | 0.04mg/2] 0.04mg/2] - - - [<0.004] - -
L Z-1, 2-2HOOTFLY - - - - - |<0.004| - -
1,1, 1-pysaozss | 1mg/Q 1mg/Q - - - [<0.0005] - -
1,1, 2-k)oa0x4-]0.006mg/2]0.006meg/Q] - - — [<o.0006] - -
1, 3-290078<> [0.002mg/2]0.002mg/Q] - - - [<0.0002[ - -
FooL 0.006mg/2]0.006mg/9] - - — [<o0006] - -
I 0.003mg/2]0.003mg/Q] - - - [<00003] - -
FARUAILT [0.02me/2] 0.02mg/2] - - - [<0.002] - -
"ot 0.01mg/2] 0.01mg/2| - - - [<o0.001] - -
L 0.01mg/2] 0.01mg/2] - - - [<0.001] - -
So% - - - [ - - [<oa| - [ -
[ESES - - - - - 0.2 - -
R ERR U EHEERR - - - - - 0.72 - -
1, 4-OFFH2]0.05mg/2] 0.05mg/2] - - - [<0.005] - -
piee=re/2—nnz7iy) 10.002mg/2]0.002mg/Q] - - - [<0.0002[ - -
BB LB R me/0) - - - - = 1.7 — —
2351 = - - |7R218| - -
i H - - — [sR18B| — -
BB T AEEH [ sonlE|oze8E| 48 [ GH16H | 7H |8B OB [10H[11A[12A] 1B 2H | 31
s H - - - - - |®mes®n| - -
7K (°C) - - - [ - -1 - [ -
ERAREE (us/cm) - - - - - - - -
KFAA2 (mg/0) - - - - - - - -
KFATVEE (pH) - - - - - - - -
FILXILKEE [|mtennoce|mtsnance] - = = T RE] - -
#2IKER 0.0005mg/2] 0.0005me/2] - - — [<00005] - =
HREDL 0.003mg/2]0.003mg/9|] - - — |<oo0003] - -
£ 001mg/2| 001mg/2| - | - | - [<0002] - | -
IR (iI=FN 0.05mg/2] 0.05mg/2| - - - [<0.02] - -
[E3 001mg/2] 00Tme/2| - | - | - [<oo00i] - | -
VTV mlanmoc| mEnmocE| — | - | - | ARE| - | -
RVEEDz= )L [mresnsoce] muensnce| - - N YT -
kJoaaIFL ] 0.01mg/2] 0.01mg/2] - - - [<o.001] - -
ThZ700xFL 2] 0.01mg/2] 0.01mg/Q| - - - [<0.0005[ - -
‘)?ﬂ_l:{ll:l;‘%‘/ 0.02mg/2] 0.02mg/2] - - - [<0.002] - -
N RAES 0.002mg/9|0.002mg/e| - [ - | - [<oo002] — [ -
B2 [T 25500 T8 [0.004me/0]0.004me/2] = | = | - [<ooeoa] = | =
1, 1-vyn0xFLr | 0.1mg/Q | 0.1mg/Q - - - [<o0002] - -
1, 2-vynnxFLr | 0.04mg/Q ) 0.04mg/Q| - - - [<o0.004 - -
T Z-1, 2-CHO00TFLY - - —_ —_ - <0004 —_ _
1,1, 1-tysanzas] 1mg/Q 1mg/Q - - - [<o0.0005] - -
1,1, 2-p)y00x4210.006mg/2]0.006mg/Q] - - - [<0.0006[ - -
1, 3-240070x> [0.002mg/2]0.002meg/2] - - - [<o.0002] - -
FIoL 0.006mg/2]0.006mg/9] - — — [<o0006] — -
P 0.003mg/2]0.003mg/Q] - - - [<0.0003] - -
FARUAILT 0.02me/2] 0.02mg/2] - - - [<0.002] - -
"oty 0.01mg/2] 0.01mg/2] - - - [<o001] - -
L 0.01mg/2] 0.01mg/Q2| - - - [<o0.001] - -
So% - - - [ - [ - [<o1[ - [ -
[ESES - - - - - <0.1 - -
BRI ERRUBRBIEER - - - - - 24 - =
1, 4-FF 52| 0.05mg/0] 0.05mg/0] - - - [<0.005] - -
EBE{EE=ZJLE/ [0.002mg/2]0.002me/Q| - - — [<00002] — -
B A B ) LS (e 0) - - - - - 6.8 — —
3] - - — |7R218| - -
S H = — — [em18R| - -
; BEH | B axeEm]| 48 [6H [6H [ 7H [8H [OH [TOA[11HA[12A[ 1H [ 2H [ 31
K %A%V 8 (pe-TEQ/L) 10 10 — — — = = =
E=RYLTEVN RSB ERED |F A A2 5 (pe-TEQ/L) 1 1 — — — — — —
E=ULTEIR B TRED) |F A4 FS 25 (pg-TEQ/L) 1 1 - - - — — —
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